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@ (+4) + (+5) @ (-6)+ (-1) ® (+3) + (+5)
@ (=7)+ (-5) @(+3) + (+7)
B

@ (+4) + (+5) = +9

@ (-6) + (-1) = -7

® (+3) + (+5) = +8

@ (-7)+ (-5) = -12

® (+3) + (+7) = +10
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(=5)+(+1)+(-=2)+(+3)

=(=5)+(=2)+(+1)+(+3)
=(=7)+(+4)
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@ (+4) +(-7) @ (-7)-(-4)
@ (-1)+(-2) ® 0+ (-3)

‘ @ -1, YA & B5F -3 o[t}




@ - - - Q)- + - ® +, -, -

1-7_)-4 ) i1 =-15 0|54
1-7_J(-4[ b) o @2 —26F = 40|tk
i)1-7 J-4 ])=-26 < ASLL Qi
i)1-7 )4 R)y=-4921,

1-7+4-2=—4°]B% FoU A2 1-7-(-4+2)-11=-15
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~15 10 = (=15) — (+10) = (-15) + (-10) = -25
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A=EHD+(-4)=+T-4)=+3
B=(-1)-(+3)=(-1) +(-3)=-(1+3) =4
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A = {6 % 10}
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A = {6 % 10}
={6-10+2}
(+6) = (+10) + (+2)
(+6) + (-10) + (+2)
{(+6) + (+2)} + (-10)
(+8) + (~10)
-2

o
-




@ (-3) x (+2) x (-2) = 12
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